
SAP ABAP table P08_PAE_ALL {Pension Auto Enrolment ALV}

P08_PAE_ALL

STQPS [CHAR (3)]

PTQPS [CHAR (3)]

AEQPS [CHAR (3)]

APQPS [CHAR (3)]

OIQPS [CHAR (3)]

OOQPS [CHAR (3)]

OISCH [CHAR (3)]

OOSCH [CHAR (3)]

AESCH [CHAR (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

ORGEH [NUMC (8)]

ABKRS [CHAR (2)]

T001P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

 P08_PAE_ALL-BTRTL = T001P-BTRTL 
0..N

0..N

T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)]

 P08_PAE_ALL-WERKS = T500P-PERSA 
0..N

0..N

T501

MANDT [CLNT (3)]

PERSG [CHAR (1)]

 P08_PAE_ALL-PERSG = T501-PERSG 
0..N

0..N

T503K

MANDT [CLNT (3)]

PERSK [CHAR (2)]

 P08_PAE_ALL-PERSK = T503K-PERSK 
0..N

0..N

T527X

MANDT [CLNT (3)]

SPRSL [LANG (1)]

ORGEH [NUMC (8)]

ENDDA [DATS (8)]

 P08_PAE_ALL-ORGEH = T527X-ORGEH 

0..N

0..N

T549A

MANDT [CLNT (3)]

ABKRS [CHAR (2)]

 P08_PAE_ALL-ABKRS = T549A-ABKRS 

0..N0..N

T5G30

MANDT [CLNT (3)]

SCHID [CHAR (3)]

ENDDA [DATS (8)]

 P08_PAE_ALL-AEQPS = T5G30-SCHID 

0..N

0..N  P08_PAE_ALL-AESCH = T5G30-SCHID 

0..N

1

 P08_PAE_ALL-APQPS = T5G30-SCHID 

0..N

0..N

 P08_PAE_ALL-OIQPS = T5G30-SCHID 

0..N

0..N

 P08_PAE_ALL-OISCH = T5G30-SCHID 

0..N

1

 P08_PAE_ALL-OOQPS = T5G30-SCHID 
0..N

0..N

 P08_PAE_ALL-OOSCH = T5G30-SCHID 
0..N1

 P08_PAE_ALL-PTQPS = T5G30-SCHID 

0..N0..N

 P08_PAE_ALL-STQPS = T5G30-SCHID 

0..N0..N


